Vi

Use the visual modé to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

There are 15 sguares below.

OdO000040cd
OO0Oodn

If you were to take away 13, how many
would be left?

15-13="7

There are 8 pentagons below.
OAOAOAGACAOAGRS

If you were to take away 3, how many
would be left?

8-3=7?

There are 3 circles below.

0O

If you were to take away 1, how many
would be left?

3-1=7?

There are 12 squares below.

OdO000040d04dn

10

If you were to take away 7, how many
would be left?

2) There are 12 pentagons below.
OAOAOACACACACAGAS;

0O

If you were to take away 1, how many
would be |eft?

12-1=7

4) There are 16 hexagons below.
OCOO0OO0OOOO

COOOOOOO

If you were to take away 11, how many
would be |eft?

16-11="7

6) There are 15 sguares below.
0000000000

OOodnod

If you were to take away 8, how many
would be |eft?

15-8=7

8) Thereare 11 triangles below.
ANAAAAAA

AAAA

If you were to take away 4, how many
would be |eft?

Answers

10.

12-7=7? 11-4=7?
There are 19 pentagons below. 10) There are 9 rectangles below.
OROROROAGROA0] 0oo0000¢000«¢0
OROACROAOROAS If you were to take away 1, how many
0000 would be left?
If you were to take away 18, how many 9-1=7
would be left?
19-18=7
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
Math www.CommonCoreSheets.com 1



Vi

Subtracting Visually

Name:

Answer Key

Use the visual modé to solve each problem.

1) Thereare 15 squares below.
OdO000040cd

OO0Oodn

If you were to take away 13, how many
would be left?

15-13="7

3) There are 8 pentagons below.
OAOAOAGACAOAGRS
If you were to take away 3, how many
would be left?
8-3=7?

5) There are 3 circles below.
OO0
If you were to take away 1, how many
would be left?
3-1=7?

7) Thereare 12 squares below.
OdO000040d04dn

10

If you were to take away 7, how many
would be left?

12-7=7?

9) There are 19 pentagons below.

2) There are 12 pentagons below.
OAOAOACACACACAGAS;

0O

If you were to take away 1, how many
would be |eft?

12-1=7

4) There are 16 hexagons below.
OCOO0OO0OOOO

COOOOOOO

If you were to take away 11, how many
would be |eft?

16-11="7

6) There are 15 sguares below.
0000000000

OOodnod

If you were to take away 8, how many
would be |eft?

15-8=7

8) Thereare 11 triangles below.
ANAAAAAA

AAAA

If you were to take away 4, how many
would be left?

11-4=7?

10) There are 9 rectangles below.

Answers
1 2
2 11
3 )
4 )
5 2
6 7
7 )
8 7
9 1
10, 8

ORCAORGAORGAS) ooooooo¢oao
OROACROAOROAS If you were to take away 1, how many
OROACRORG] would be left?
If you were to take away 18, how many 9-1=7
would be left?
19-18="7
1-10 [90[80]70[60]50]40]30]20]10] 0
Math www.CommonCoreSheets.com 1 . Hololz0lole]



Vi

Use the visual modé to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

There are 6 triangles below.
ANANAAAANA

If you were to take away 2, how many
would be left?

6-2=7

There are 19 hexagons below.
COOOOOOO

COOOOOOO

OXOX®,

If you were to take away 12, how many
would be left?

19-12="7

There are 7 squares below.
OOOdonod

If you were to take away 6, how many
would be left?

7-6=7

There are 2 circles below.

OO

If you were to take away 1, how many
would be left?

2-1=7

2)

4)

6)

8)

There are 15 triangles below.
AAAAAAAA

AANAAAAAA

If you were to take away 4, how many
would be left?

15-4=7

There are 3 pentagons below.
OROAS)]

If you were to take away 2, how many
would be |eft?

3-2=7?

There are 10 stars below.

PAGAGR AR gh % dh % db % g A g A ¢

w

If you were to take away 6, how many
would be left?

10-6=7?

There are 6 triangles below.
AAAAAA

If you were to take away 1, how many
would be |eft?

6-1=7

Answers

10.

There are 17 hexagons below. 10) Thereare 7 triangles below.
COOOOOO AANAAAAAA
COOOOOO If you were to take away 5, how many
OXOX®, would be |eft?
If you were to take away 13, how many 7-5=7
would be left?
17-13="?
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
Math www.CommonCoreSheets.com 2



Vi

Use the visual modé to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

Answer Key

There are 6 triangles below.
ANANAAAANA

If you were to take away 2, how many
would be left?

6-2=7

There are 19 hexagons below.
COOOOOOO

COOOOOOO

OXOX®,

If you were to take away 12, how many
would be left?

19-12="7

There are 7 squares below.
OOOdonod

If you were to take away 6, how many
would be left?

7-6=7

There are 2 circles below.

OO

If you were to take away 1, how many
would be left?

2-1=7

2)

4)

6)

8)

There are 15 triangles below.
AAAAAAAA

AANAAAAAA

If you were to take away 4, how many
would be left?

15-4=7

There are 3 pentagons below.
OROAS)]

If you were to take away 2, how many
would be |eft?

3-2=7?

There are 10 stars below.

PAGAGR AR gh % dh % db % g A g A ¢

w

If you were to take away 6, how many
would be left?

10-6=7?

There are 6 triangles below.
AAAAAA

If you were to take away 1, how many
would be |eft?

6-1=7

Answers
1 4
2 11
3 7
4 1
5 1
6 4
7 1
8 )
9 4
10, 2

There are 17 hexagons below. 10) Thereare 7 triangles below.
COOOOOO AANAAAAAA
COOOOOO If you were to take away 5, how many
OXOX®, would be |eft?
If you were to take away 13, how many 7-5=7
would be left?
17-13="?
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
Math www.CommonCoreSheets.com 2



Vi

Use the visual modé to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

There are 4 circles below.

OXOXOXO)

If you were to take away 3, how many
would be left?

4-3=7

There are 9 stars below.

AR AR A AR A e A A g A g

If you were to take away 3, how many
would be left?

9-3=7?

There are 11 hexagons below.
COOOOOO

OXOXOXW;

If you were to take away 1, how many
would be left?

11-1=7?

There are 9 squares below.
OO00000000

If you were to take away 1, how many
would be left?

9-1=7?

There are 19 pentagons below.
OACAOAOACROACAOAGRS

OAOAOACACACACAOAS;

If you were to take away 10, how many
would be left?

19-10="7

2)

4)

6)

8)

10)

There are 18 triangles below.
AAAAAAAA

AAAAANANAAA

A A

If you were to take away 13, how many
would be left?

18-13="?

There are 10 rectangles below.

0oo0000aood

0 0

If you were to take away 6, how many
would be left?

10-6=7?

There are 10 triangles below.
ANAAAAAANANANAA

A

If you were to take away 9, how many
would be left?

10-9=7?

There are 7 hexagons below.
COOOOOO

If you were to take away 5, how many
would be left?

7-5=7

There are 11 triangles below.
ANAANAAAANANNA

A A

If you were to take away 10, how many
would be left?

11-10="7

Answers

10.

Math
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Vi

Subtracting Visually

Name:

Answer Key

Use the visual modé to solve each problem.
1) Thereare4 circlesbelow.

O00O0

If you were to take away 3, how many
would be left?

4-3=7?

3) Thereare 9 stars below.

A Eh A AN A G A A gk g

If you were to take away 3, how many
would be left?

9-3=?

5) There are 11 hexagons below.
COOOOOO

OXOXOXW;

If you were to take away 1, how many
would be left?

11-1=7?

7) There are 9 squares below.
OO00000000
If you were to take away 1, how many
would be left?
9-1=7?

9) There are 19 pentagons below.
OACAOAOACROACAOAGRS
OAOAOACACACACAOAS;

If you were to take away 10, how many
would be left?

19-10="7

2)

4)

6)

8)

10)

There are 18 triangles below.
AAAAAAAA

AAAAANANAAA

A A

If you were to take away 13, how many
would be left?

18-13="?

There are 10 rectangles below.

0oo0000aood

0 0

If you were to take away 6, how many
would be left?

10-6=7?

There are 10 triangles below.
ANAAAAAANANANAA

A

If you were to take away 9, how many
would be left?

10-9=7?

There are 7 hexagons below.
COOOOOO

If you were to take away 5, how many
would be left?

7-5=7

There are 11 triangles below.
ANAANAAAANANNA

A A

If you were to take away 10, how many
would be left?

11-10="7

Answers
1 1
2 )
3 6
4 4
5 10
6 1
7 8
8 2
9 9
10, 1

Math

www.CommonCoreSheets.com
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Vi

Use the visual modé to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

There are 3 circles below.

0O

If you were to take away 1, how many
would be left?

3-1=7?

There are 11 hexagons below.
CQOOOOOOOOO

O

If you were to take away 6, how many
would be left?

11-6=7?

There are 19 triangles below.
AAAAAAAAA

AAAANANANANAANANAA

A

If you were to take away 5, how many
would be left?

19-5=7

There are 5 triangles below.
ANANAAA

If you were to take away 2, how many
would be left?

5-2=7?

There are 12 squares below.

00000000

OO

If you were to take away 1, how many
would be left?

12-1=7?

2)

4)

6)

8)

10)

There are 2 stars below.

w %

If you were to take away 1, how many
would be left?

2-1=7?

There are 15 rectangles below.

0o00o0o0anod
0ooo0o¢0oan

If you were to take away 11, how many
would be |eft?

15-11="7

There are 11 pentagons below.
OAOAOACACACACACAORG)

0]

If you were to take away 3, how many
would be |eft?

11-3=7?

There are 6 circles below.
OO000O0O0O

If you were to take away 3, how many
would be left?

6-3=7?

There are 13 sgquares below.

0000000000
OO

If you were to take away 6, how many
would be |eft?

13-6=7

Answers

10.

Math

www.CommonCoreSheets.com
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Vi

Use the visual modé to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

Answer Key

There are 3 circles below.

0O

If you were to take away 1, how many
would be left?

3-1=7?

There are 11 hexagons below.
CQOOOOOOOOO

O

If you were to take away 6, how many
would be left?

11-6=7?

There are 19 triangles below.
AAAAAAAAA

AAAANANANANAANANAA

A

If you were to take away 5, how many
would be left?

19-5=7

There are 5 triangles below.
ANANAAA

If you were to take away 2, how many
would be left?

5-2=7?

There are 12 squares below.

00000000

OO

If you were to take away 1, how many
would be left?

12-1=7?

2)

4)

6)

8)

10)

There are 2 stars below.

w %

If you were to take away 1, how many
would be left?

2-1=7?

There are 15 rectangles below.

0o00o0o0anod
0ooo0o¢0oan

If you were to take away 11, how many
would be |eft?

15-11="7

There are 11 pentagons below.
OAOAOACACACACACAORG)

0]

If you were to take away 3, how many
would be |eft?

11-3=7?

There are 6 circles below.
OO000O0O0O

If you were to take away 3, how many
would be left?

6-3=7?

There are 13 sgquares below.

0000000000
OO

If you were to take away 6, how many
would be |eft?

13-6=7

Answers
1 2
2 1
3 )
4 4
5 14
6 8
7 3
8 3
9 11
10, 7

Math

www.CommonCoreSheets.com
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Vi

Use the visual modé to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

There are 17 pentagons below.
OACAOAOAGROAE,

OROACACAOAOAS;

OROAE,

If you were to take away 6, how many
would be left?

17-6="7

There are 2 circles below.

OO

If you were to take away 1, how many
would be left?

2-1=7

There are 5 hexagons below.
COOO00O

If you were to take away 4, how many
would be left?

5-4=7°

There are 6 triangles below.
ANAAAAA

If you were to take away 1, how many
would be left?

6-1=7

There are 6 circles below.
OO000O0O

If you were to take away 4, how many
would be left?

2)

4)

6)

8)

10)

There are 19 circles below.

OCO0OO0OOOOOO0
OCO0OO0OOOOOO0

O

If you were to take away 9, how many
would be left?

19-9=7?

There are 18 triangles below.
ANANAAAAA

AAAANAANANANA

ANANAAA

If you were to take away 3, how many
would be left?

18-3=7?

There are 4 stars below.

DGR A Ak g

If you were to take away 3, how many
would be left?

4-3=7

There are 17 circles below.

000000000
O00000O0

If you were to take away 8, how many
would be left?

17-8=7

There are 13 pentagons below.
OAOAGACACAOACAOAS

Q000

If you were to take away 12, how many

Answers

10.

6-4="7 would be left?
13-12="7
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
Math www.CommonCoreSheets.com 5



Vi

Subtracting Visually

Name:

Answer Key

Use the visual modé to solve each problem.

1) Thereare 17 pentagons below.
OACAOAOAGROAE,

OROACACAOAOAS;

OROAE,

If you were to take away 6, how many
would be left?

17-6="7

3) Thereare 2 circles below.
OO
If you were to take away 1, how many
would be left?
2-1=?

5) There are 5 hexagons below.
COOO00O
If you were to take away 4, how many
would be left?
5-4=7°

7) Thereare 6 triangles below.
ANAAAAA
If you were to take away 1, how many
would be left?
6-1=7

9) Thereare 6 circles below.
O000O00O
If you were to take away 4, how many
would be left?

2) Thereare 19 circles below.

OCO0OO0OOOOOO0
OCO0OO0OOOOOO0

O

If you were to take away 9, how many
would be left?

19-9=7?

4) There are 18 triangles below.
AAAANAAAA

AAAANAANANANA

ANANAAA

If you were to take away 3, how many
would be left?

18-3=7?

6) Thereare 4 stars below.
WKW
If you were to take away 3, how many
would be left?
4-3=7

8) Thereare 17 circles below.

000000000
O00000O0

If you were to take away 8, how many
would be left?

17-8=7

10) There are 13 pentagons below.
OAOAGACACAOACAOAS

Q000

If you were to take away 12, how many

Answers
1 11
2 10
3. 1
4 15
5 1
6 1
7 )
8 9
9 2
10. 1

6-4="7 would be left?
13-12="7
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
Math www.CommonCoreSheets.com 5



Vi

Use the visual modé to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

There are 14 rectangles below.

Ooo0oooDooaoan
00000

If you were to take away 12, how many
would be left?

14-12=7

2)

There are 2 circles below.

OO

If you were to take away 1, how many
would be left?

2-1=7?

Answers

There are 16 squares below. 4) There are 13 triangles below.
OO000O004dc ANNAAANAANNA
OOoOoOoOoOod AAAA >
If you were to take away 15, how many If you were to take away 6, how many
would be left? would be |eft? 6.
16-15="7 13-6=7

7.

8.
There are 14 triangles below. 6) There are 19 hexagons below.
ANAAAAAAA COOOOOOO
ANANAAAA COOOOOOO %
If you were to take away 10, how many OO
would be left? If you were to take away 17, how many 10.
14-10="7 would be left?

19-17="7
There are 11 circles below. 8) There are 11 rectangles below.
OO000O00OO0 0 oo0ooooodoan
OO0O0O0 I
If you were to take away 9, how many If you were to take away 10, how many
would be left? would be |eft?
11-9=7? 11-10="7
There are 19 rectangles below 10) There are 3 circles below.
0oo00o00oaood 000
0o0ooocoo¢nd If you were to take away 1, how many
00 [ would be |ft?
If you were to take away 4, how many 3-1=7
would be left?
19-4=7
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
Math www.CommonCoreSheets.com 6



Vi

1)

3)

5)

7)

9)

Subtracting Visually

Name:

Answer Key

Use the visual modé to solve each problem. Answers
There are 14 rectangles below. 2) Thereare 2 circles below.
Oooo0ooooanoda OO L 2
0000 If you were to take away 1, how many
If you were to take away 12, how many would be |eft?
would be left? 2.1=7 2 1
14-12=7
3 1
4 7
There are 16 squares below. 4) There are 13 triangles below.
OO000O004dc AAANANANANNAA 4
OOoOoOoOoOod AAAA >
If you were to take away 15, how many If you were to take away 6, how many
would be left? would be left? 6 2
16-15="7 13-6=7
7 2
8 1
There are 14 triangles below. 6) There are 19 hexagons below.
ANAAAAAAA COOOOOOO 15
ANANAAAA COOOOOOO 9
If you were to take away 10, how many OO
would be left? If you were to take away 17, how many 10 2
14-10="7 would be left?
19-17="7
There are 11 circles below. 8) There are 11 rectangles below.
OO000O00OO0 0oooooouoaod
OO0O0O0 I
If you were to take away 9, how many If you were to take away 10, how many
would be left? would be left?
11-9=7? 11-10="7
There are 19 rectangles below 10) There are 3 circles below.
0ooo0o0ad 00O
0o0ooocoo¢nd If you were to take away 1, how many
00 [ would be left?
If you were to take away 4, how many 3-1=7
would be left?
19-4=7
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
Math www.CommonCoreSheets.com 6



Vi

Use the visual modé to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

There are 20 squares below.

OOO0O0O0O00on
OOO0O0O0O00on

O] OO

If you were to take away 3, how many
would be left?

20-3=7?

There are 2 circles below.

OO

If you were to take away 1, how many
would be left?

2-1=7

There are 10 rectangles below.
0000000¢0T¢00«

If you were to take away 7, how many
would be left?

10-7=7?

Thereare 1
00010
00010
I

If you were to take away 12, how many

would be left?
15-12="7

There are 3 rectangles below.

000

If you were to take away 2, how many
would be left?

3-2=7?

2)

4)

6)

8)

10)

There are 12 hexagons below.
OCOOOOOOO

OO0

If you were to take away 9, how many
would be |eft?

12-9=7

There are 15 circles below.

00000000
O00000O

If you were to take away 9, how many
would be |eft?

15-9=7?

There are 9 hexagons below.
OCOOOOOOO

O

If you were to take away 7, how many
would be |eft?

9-7=7?

There are 14 pentagons below.
OAOAOACACACACACAGRG]

OAOAOAY,

If you were to take away 8, how many
would be |eft?

14-8=7

There are 3 pentagons below.
00

If you were to take away 1, how many
would be left?

3-1=7?

Answers

10.

Math

www.CommonCoreSheets.com
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Vi

Subtracting Visually

Name:

Answer Key

Use the visual modé to solve each problem.

1) Thereare 20 squares below.
00000000

OOO0O0O0O00on

O] OO

If you were to take away 3, how many
would be left?

20-3=7?

3) Thereare 2 circles below.
OO
If you were to take away 1, how many
would be left?
2-1=?

5) There are 10 rectangles below.
0000000¢0T¢00«
If you were to take away 7, how many
would be left?
10-7=7?

7) Therearel
00010
00010
I

If you were to take away 12, how many

would be left?
15-12="7

9) There are 3 rectangles below.

000

If you were to take away 2, how many

2) There are 12 hexagons below.
OCOOOOOOO

OO0

If you were to take away 9, how many
would be |eft?

12-9=7

4) Thereare 15 circles below.

00000000
O00000O

If you were to take away 9, how many
would be |eft?

15-9=7?

6) There are 9 hexagons below.
OCOOOOOOO

O

If you were to take away 7, how many
would be |eft?

9-7=7?

8) There are 14 pentagons below.
OAOAOACACACACACAGRG]

OAOAOAY,

If you were to take away 8, how many
would be |eft?

14-8=7

10) There are 3 pentagons below.
00

If you were to take away 1, how many

Answers
1 17
2 3
3 1
4 6
5 3
6 2
7 3
8 6
9 1
10, 2

would be left? would be left?
3-2=7 3-1="7
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
Math www.CommonCoreSheets.com 7



Vi

Use the visual modé to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

There are 17 pentagons below.
OACAOAOAGROAS,

OROACACAORORS

OROAS,

If you were to take away 11, how many
would be left?

17-11="7

There are 9 triangles below.
ANANAANAAAA

A A

If you were to take away 6, how many
would be left?

9-6="7

There are 19 circles below.

OCO0OO0O0OOOOO0O0
OCO0OO0O0OOOOO0O0

O

If you were to take away 16, how many
would be left?

19-16="

There are 2 pentagons below.

a0

If you were to take away 1, how many
would be left?

2-1=7

There are 7 circles below.
OO0OO0O0O0O0OO

If you were to take away 5, how many
would be left?

7-5=7

2)

4)

6)

8)

10)

There are 3 triangles below.

ANANNA

If you were to take away 1, how many
would be |eft?

3-1=7?

There are 11 hexagons below.
COOOOOOOOO

O

If you were to take away 10, how many
would be left?

11-10="7

There are 14 hexagons below.
COOOOOOOO

COOO00O

If you were to take away 13, how many
would be left?

14-13="7

There are 5 hexagons below.
COOO00O

If you were to take away 4, how many
would be |eft?

5-4=7?

There are 10 stars below.

AR AR AdD A AR A g kg A R A kg

If you were to take away 5, how many
would be left?

10-5=7?

Answers

10.
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Subtracting Visually

Name:

Answer Key

Use the visual modé to solve each problem.

1) Thereare 17 pentagons below.
OACAOAOAGROAS,

OROACACAORORS

OROAS,

If you were to take away 11, how many
would be left?

17-11="7

3) There are 9 triangles below.
ANANAANAAAA

A A

If you were to take away 6, how many
would be left?

9-6="7

5) There are 19 circles below.

OCO0OO0O0OOOOO0O0
OCO0OO0O0OOOOO0O0

O

If you were to take away 16, how many
would be left?

19-16="

7) Thereare 2 pentagons below.
a0
If you were to take away 1, how many
would be left?
2-1=7

9) Thereare 7 circles below.
OO000O0O0O0O
If you were to take away 5, how many
would be left?
7-5=7

2) There are 3 triangles below.
ANANNA
If you were to take away 1, how many
would be |eft?
3-1=7?

4) Thereare 11 hexagons below.
OCOOOOOOLOOO

O

If you were to take away 10, how many
would be left?

11-10="7

6) There are 14 hexagons below.
COOOOOOOO

COOO00O

If you were to take away 13, how many
would be left?

14-13="7

8) There are 5 hexagons below.
COOO00O
If you were to take away 4, how many
would be |eft?
5-4=7?

10) There are 10 stars below.
ARG A A A bk SR AR A% gh ¢
If you were to take away 5, how many
would be |eft?
10-5=7?

Answers
1 6
2 2
3 3
4 1
5 3
6 1
7 1
8 1
9 2
10, S
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1)

Subtracting Visually Name:
Usethevisual model to solve each problem. Answers
There are 9 squares below. 2) There are 12 pentagons below.
OO0O000m0d OAOAOACACAOACAGAS; L
1O 00 '

3)

5)

7)

9)

If you were to take away 4, how many
would be left?
9-4=7

There are 10 rectangles below.
0000000¢0T¢00«

If you were to take away 9, how many
would be left?

10-9=7?

There are 15 stars below.

AAERA Gk gk ghk gh e

WKW WWWW

*

If you were to take away 8, how many
would be left?

15-8="?

There are 4 pentagons below.
OACAOAG)]

If you were to take away 3, how many
would be left?

4-3=7?

4)

6)

8)

If you were to take away 4, how many
would be |eft?
12-4=7

There are 15 triangles below.
AAAAAAAAAA

AAAAA

If you were to take away 5, how many
would be |eft?

15-5=7

There are 12 circles below.

00000000

000

If you were to take away 10, how many
would be |eft?

12-10="7

There are 10 hexagons below.
COOOOOOOO

O

If you were to take away 4, how many
would be |eft?

10.

10-4=7
There are 18 triangles below. 10) There are 4 stars below.
ANANAAAAANANAA WWWW
ANANAANAAAANA If you were to take away 1, how many
If you were to take away 12, how many would be |eft?
would be left? 4-1=7
18-12=7
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1)

3)

5)

7)

9)

Subtracting Visually Name: Answer Key
Usethevisual model to solve each problem. Answers
There are 9 squares below. 2) There are 12 pentagons below.
OO0O000m0d OAOAOACACAOACAGAS; L 5
1O 00 '
If you were to take away 4, how many If you were to take away 4, how many
would be left? would be left? 2. 8
9-4="2 12-4="7
3 1
a 10
There are 10 rectangles below. 4) There are 15 triangles below.
0000000¢0T¢00« AAAAANANAAAA 7
If you were to take away 9, how many AAAAA >
would be left? If you were to take away 5, how many
10-9="7 would be left? 6 2
15-5=7
7 1
8 6
There are 15 stars below. 6) Thereare 12 circlesbelow.
PARAGR ARk gh i gk gk g 00000000 6
¥ ¥ Yo ok K K Q00 >
Ag If you were to take away 10, how many
If you were to take away 8, how many would be left? 10. 3
would be left? 12-10="7
15-8=7?
There are 4 pentagons below. 8) There are 10 hexagons below.
OROACAG] COOOOOOOO
If you were to take away 3, how many O
would be left? If you were to take away 4, how many
4-3=7? would be |eft?
10-4=7
There are 18 triangles below. 10) There are 4 stars below.
ANANAAAAANANAA WWWW
ANANAANAAAANA If you were to take away 1, how many
If you were to take away 12, how many would be |eft?
would be left? 4-1=7
18-12=7
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
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1)

3)

5)

7)

Subtracting Visually Name:

Use the visual modé to solve each problem. Answers
There are 11 circles below. 2) There are 13 sguares below.
O00O00OO0O0O0 OdO0O00000n L
OO0 OO0 '
If you were to take away 2, how many If you were to take away 8, how many
would be left? would be left? 2.
11-2=7? 13-8=7

3.
4.
There are 4 circles below. 4) There are 9 pentagons below.
O0O0O0 OACAOAOACAGACAOAS; c
If you were to take away 1, how many If you were to take away 1, how many '
would be left? would be |eft?
4-1="7 9-1=7 6.
7.
8.
There are 5 hexagons below. 6) There are 18 stars below.
OXOXOXOX, KHHWHRRRKK
If you were to take away 3, how many KHRHEWRRWERRR %
would be left? If you were to take away 9, how many
5-3=7 would be |eft? 10.
18-9=7
There are 8 circles below. 8) Thereare 10 triangles below.
O00000O0O0 AAAAANANAAA
If you were to take away 1, how many A

9)

would be left?
8-1=7

There are 9 circles below.
OCOO0O0OOOOO0O0

If you were to take away 8, how many
would be left?

10)

If you were to take away 6, how many
would be |eft?
10-6=7

There are 13 stars below.

WRRKKKK KW
W W

If you were to take away 9, how many

9-8=7 would be left?
13-9=?
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
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1)

3)

5)

7)

Subtracting Visually Name: Answer Key
Usethevisual model to solve each problem. Answers

There are 11 circles below. 2) There are 13 sguares below.

O00O00OO0O0O0 OdO0O00000n L 9

OO0 OO0

If you were to take away 2, how many If you were to take away 8, how many 5

would be left? would be left? 2

11-2=7? 13-8=7
3 3
4 8

There are 4 circles below. 4) There are 9 pentagons below.

O0O0O0 OACAOAOACAGACAOAS; c 2

If you were to take away 1, how many If you were to take away 1, how many

would be left? would be left?

4-1=7 9-1=2 6 9
7 7
g 4

There are 5 hexagons below. 6) There are 18 stars below.

OXOXOXOX, KHHWHRRRKK 1

If you were to take away 3, how many KHRHEWRRWERRR 9

would be left? If you were to take away 9, how many

5-3=7 would be left? 10, 4

18-9=7
There are 8 circles below. 8) Thereare 10 triangles below.
O00000O0O0 AAAAANANAAA

9)

If you were to take away 1, how many
would be left?
8-1="7

There are 9 circles below.
OCOO0O0OOOOO0O0

If you were to take away 8, how many
would be left?

10)

A

If you were to take away 6, how many
would be |eft?
10-6=7

There are 13 stars below.

WRRKKKK KW
W W

If you were to take away 9, how many

9-8=7 would be left?
13-9=?
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